Exercício de Controle Avançado de Processos 
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Exercício 1 de Controle Avançado de Processos

(Individual)

1 Reação de Van de Vusse

A reação de Van de Vusse consiste em uma reação 
em série e uma em paralelo segundo o seguinte esquema reacional:

[image: image1.wmf]A

B

C

A

D

k

k

k

1

2

3

2

¾

®

¾

¾

®

¾

¾

®

¾

.




O objetivo é a produção de B. Os componentes C e D são subprodutos. Nessa questão iremos considerar que a reação de van de Vusse é realizada em um reator isotérmico idealmente agitado, conforme Fig. 4.1, o qual é modelado por: 
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onde ki é dado pela equação de Arrhenius, i.e.,
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E k10 = k20 = 1,287(1012 h-1, k30 = 9,043(109  EQ \f (liter;mol h) , E1 = E2 = ‑9758,3 K, e E3 = ‑8560 K.
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Fig. 1.1: Esquema do reator


As variáveis manipulada e controlada são respectivamente f = Fin/VR  (inverso do tempo de residência) e cB (concentração do componente B). A concentração de entrada do componente A, cAin , é o principal distúrbio.

Nessa questão serão analisados os seguintes pontos de operação:

Tab. 4.1: Pontos de Operação

Pontos de Operação:
1
2
3

Temperatura do reator [oC]
134,14
113,61
103,51

f [h-1]
18,83
14,19
25,50

1.1 Analise o grau de não-linearidade apresentado pelos três pontos de operação.

1.2 Para cada um dos pontos de operação compare a resposta do modelo não linear com a do correspondente modelo linearizado para diferentes degraus em f.

1.3 Para o segundo ponto de operação gere uma curva cB( f formada pelas soluções estacionárias do reator de van de Vusse para cAin= 4.5, 5.1 e 5.7 . 

1.4 Caracterize a resposta dinâmica apresentada por pontos à esquerda e à direita do ponto de máxima concentração cB.

1.5 Para k1=1.5*k2 gere o mesmo gráfico gerado no item 1.3. Compare e explique os resultados obtidos com os do item 1.3.

2 Modelo Não – Isotérmico

2.1 Desenvolva a S-FUNCTION para a reação de Van de Vusse para o caso não-isotérmico segundo o equacionamento abaixo. 

Process Description 

A Van de Vusse reaction kinetic scheme [VV64], where cyclopentenol (B) is produced from cyclopentadiene (A) and the by-products cyclopentanediol (C) and dicyclopentadiene (D) are produced in unwanted side and consecutive reactions:
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(1)

is carried out in a CSTR. This problem has been considered by several researchers as a benchmark problem for nonlinear process control algorithms ([EnKl93], [CKA95], [KEKA95]).

Nonlinear model 

A detailed model for this system was presented by Engell and Klatt [EnKl93]. Here we will insert an additional process degree of freedom for this system. Figure 1 shows the reactor schematically. 
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Figure 1: Schematic representation of the CSTR for 2 PDOF (dashed line) and 3 PDOF (solid line) cases 
Under the assumption of constant density, the dynamics of the system can be described by the following five nonlinear differential equations that are derived from mass and energy balances for the reactor and cooling jacket:
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The reactant cyclopentadiene (A) is fed into the reactor with concentration cAin and temperature Tin. Fin  and Fout are the inlet and outlet volumetric flows through the reactor. For the 2 PDOF problem Fin = Fout and the reactor volume VR is constant. This situation is represented in Figure 1 as an overflow stream. 

The concentrations of substances A and B are cA and cB, respectively. The concentrations cC and cD can be calculated from the following equations obtained from the mass balances of each component:





(7)

where  EQ f = \f (Fin;VR) . Furthermore,


                        

 ,
(8)

and 


.
(9)

The temperature in the reactor is denoted by T, while the temperature in the cooling jacket is represented by TK. The specific reaction rate ki is assumed to depend on the temperature via the Arrhenius equation




.
(10)

Operating points

For the nonlinear reactor model and a given reactor volume VR, one can chose 4 variables from the set { cAin , Tin , Fin , QK , cA , cB ,T , TK } to be calculated, the other 4 variables must be given, assumed or optimized. The subset { cAin , Tin , Fin , QK } represents a good selection for the design task, since they are the physical inputs to the system. In principle, all 4 variables could be optimized for some objective function using selectivity, reactor yield, etc. Of course, cAin is usually given. Although Tin is also a disturbance, it can be changed by the inclusion of a heat exchanger in the inlet stream.

Table 1: Chemical kinetic parameters for the Arrehnius equation [EnKl93]

Reaction
Collision factor ki0
Unit of ki0
Activation Energie Ei [K]
Reaction Enthalpy (Hi [kJ/mol]




(1.287(0.04)(1012
h-1
-9758.3
4.2 ( 2.36




(1.287(0.04)(1012
h-1
-9758.3
-(11.0 ( 1.92)




(9.043(0.27)(109
 EQ \f (liter;mol h) 
-8560
-(41.85 ( 1.41)

Table 2: Physico-chemical parameters and reactor dimensions [EnKl93]

Parameter Name
Symbol
Value
Unit

density of mixture 
(
0.9342 ( 0.0004
 EQ \b \bc\[ (\f (kg;l)) 

heat capacity of mixture 
Cp
3.01 ( 0.04
 EQ \b \bc\[ (\f (kJ;kg K)) 

heat transfer coefficient for cooling jacket
kW
4032  ( 120
 EQ \b \bc\[ (\f (kJ;m2 h K)) 

surface of cooling jacket 
AR
0.215
[m2]

nominal reator volume
VR
10
[l]

reactor diameter
DR
0.2312 or 0.3678§
[m]

coolant mass
mK
5.0
[kg]

heat capacity of coolant
CpK
2.0 ( 0.05
 EQ \b \bc\[ (\f (kJ;kg K)) 

§The reactor diameter was not given in [EnKl93]. The values presented here are the positive solutions of the equation  EQ  AR = ((DR2)/4 + (4 VR )/DR  for the nominal AR and VR presented in this table. 

2.2 Teste o modelo gerado através dos seguintes pontos de operação:



Reactor 

performance indices
Trans.
Zero
Input
variables

Source/

Criterion
 EQ \f(cB;cAin - cA)
 EQ  \f(cB;cAin)
z
cAin


Tin 

[° C]
 EQ  \f(Fin;VR)
QK

[kJ/h]

[3]
0.233
0.177
131.3
5.1
130.0
18.8
-4496

[2]/(B
0.373
0.214
0.00
5.1
104.4
14.2
-1113

 EQ (B +(B - \f (1;|z|) 
0.489
0.152
-26.5
5.1
99.4
25.5
-2912

3 Processo da Tennessee Eastman

Essa questão está baseada no artigo:

[DV93]
J.J.Downs and E. F. Vogel,  "A Plant Wide Industrial Process Control Problem", Computers chem. Engng, Vol.17(3), pp.245-255, |(1993)

3.1 Determine as variáveis manipuladas, medidas e controladas para o processo mostrado em [DV93, Fig. 1]. Quais são os principais distúrbios que afetam esse processo. Discuta a importância relativa desses distúrbios. 

3.2 Familiarize-se com o modelo da unidade implementado nas S-Functions que estão nos diretórios:
u:\cursos\pos\controle\tec\te_tc e u:\cursos\pos\controle\tec\temex. Faça algumas simulações alterando alguns parâmentros desse modelo. 

3.3 Baseado na sua intuição, sem nenhum rigor matemático, proponha três estratégias de controle para essa planta. Esquematize a sua proposta no fluxograma da [DV93, Fig. 1].
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